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D sanesneara Instructions Each day, choose from the options beld@®hoose as many or as few as you have time for.

Forwards and Backwards What perceninddegrees of the
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The number 747 can be formed b pie have been eaten?
adding a digit number with its
reversal:

126

+621
AR 747
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Estimation

Can you find the other two ways
of making 747 in this way?
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Splat!

Can you find every number
between 0 and 20 using only four

What is covered by each splat?
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The number on each bridge is the
The area of the full square is giveSum of the numbers of cows in eac

in each diagram below.
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What is the area of each shape?

of the adjoining fields.

Clickhereto try the
puzzles! ey & }
®
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Activities / Puzzles Working with Numbers

What is the most common car
colour where you live?

The Ratio of Circumference to
Diameter

Clickhereto learn how you can
measure circular objects to
explore the relationship between
circumferencexnddiameterof
acirclein order to discover
the ratio, Pi.
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Similarity and Congruence

Watch the videdere. Then, click
on the interactive task to identify Clickhereto follow to the steps to
different similar and congruent try a Gizmo on unit conversions!

shapes. Answer additional
Explor%arning°

Problems
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Gizme Unit Conversions

Technology

guestionshere.
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When you let your dog Sparky ou
he is tied to a rope that is pegged
in the middle of your yard so

Sparky can run around

Estimate the area
Sparky has to run if
the rope is 5m lon

Scientific Notation

Using the digits & 9, at most one
time each, fill in the boxes to mak
a product that equals
800,000,000.
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Surface Area
An object is made from two
identical cubes, each with volume
of 8cn?, joined such that one
overlaps half of one face of the
other. Find the Surface area.

Connect Three

Can you place three of your
counters in a straight line before
your opponent does?

Play the gambere. m

Please click on this Icon, wherever you see it, to access Indigenous content.


http://www.learnalberta.ca/content/mejhm/index.html?l=0&ID1=AB.MATH.JR.SHAP&ID2=AB.MATH.JR.SHAP.SIM&lesson=html/video_interactives/similaritycongruence/similarityCongruenceSmall.html
https://nrich.maths.org/5864
https://www.youcubed.org/tasks/the-four-4s/

Choice Board Background Information:

\ Choice boards were created to
provide flexibility in learning at
home;

Boards were planned for divisions: K
3, 46, 7-8 for open, individualized
learning;

Planned with recognition that
parents may currently hold various
roles at home;

Designed to enhance the materials
provided by the Ministry;
Experiential learning focus with
accessiblenaterials at home;
Low/No tech options;

Accessible on mobile devices.

Explanatory Notes:
LEARN AT HOME

CHOICE BOARDS
FOR PARENTS ANLQ
Choice Board Activities EDUCATORS

Provide: At
S ing ana

V  Clear connections to ® N Learning for All
curriculum expectations
and process skills;

Open activities with options to
individualize learning;
Accessibilitgmany require little to
no technology);

Math ¢ focus on numeracy skills;
Literacyg focus on reading,
writing, oral language and media
literacy;

French learning opportunities;
Health and Physical WeBleing ;
Opportunities to foster
connections withirthe household;
Focus on conversation and
thinking.
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Please watch the attached video to understand more on the teachings
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square footage required to build a lodge large enough to fit your

family and friends.

Introducing the Sweat Lodge

™

Return Home


https://www.youtube.com/watch?v=VDLUQlOR_nI

Forwards and Backwards EReizues

Sourcehttps://nrich.maths.org/11111

The number 747 can be formed by addingdigt number with its reversal:
126
+ 621

747
Can you find the other two ways of making 747 in this way?
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Which other numbers between 700 and 800 can be formed from a number plus
its reversal? There are more than five...

Can you explain how you know you have found all the possible numbers?
Extension:

How many numbers between 300 and 400 can be formed from a number plus its
reversal? And between 800 and 9007?...

The number 1251 can be formed by addingdegi® number with its reversal.

Which other numbers between 1200 and 1300 can be formed from a number
plus its reversal? And between 1900 and 20007

Possible Solutions:

[ 3][2] 4] 2|2 ][5 ]
+4]12](2] +5][2]12]
74 7 74 7

Clickherefor more solutions!
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https://nrich.maths.org/11111
https://nrich.maths.org/11111/solution

Estimation 180 m8m

http://www.estimation180.com/day114.html

What
percentand
degrees of
the pie have
been eaten?

ESTIMATION 1 80.COM

Solution

timation 180
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http://www.estimation180.com/day-112.html
http://www.estimation180.com/day-114.html

middle of your yard so Sparky can r n
around.

1. Estimate the area Sparky has t0 iy -
if the rope is 5m long. !

The grass where the dog has access is now destroyeual.
would like to replace this area with grass (sod).

2. Calculate the area that needs to be replaced. (Use a rope
length of 5m).

3. Given the size of one piece of sod is 40 cm by 61 cm, how
many pieces of sod would you need to buy?

Challenge Question:
What if your dog was tied to this rope in your
yard with a dog house.

What is the area the dog can roam outside of r
the dog house? r

See the solutionisere.

Curriculum
Connections
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To go back to the questions clicke.

Solutions
1. Estimate the area Sparky has to run if the
rope is 5m long.

Sparky would make a circle with a radius of
10m. The area he has to run would be equal

to: A= }TTZ

Estimating Pi as 3 would give Sparky an
approximate area of 3 x5 x5 = 75m

2. Calculate the area that needs to be replaced A = nr?
(Use a rope length of 5m).

= 17(5)?

3. Given the size of one piece of sodis40cmb = 7g.5m2
61 cm, how many pieces of sod would you neec.
to buy? ,

Area of one piece of sod: Number of pieces of sod needed:

=6lcm x 40cm = 78.5m2 = 0.244 m?2

=0.61m x 0.40m =322 pieces of sod

=0.244 m?

A L2
. = —10r
Challenge Question: 4
What is the area the dog can roar 1 ,
outside of the dog house? =,70) c
1 r

The dog house would make a righ = 7 (78.5m?)
angle inside of the circle.
Therefore, one quarter of the circl ~ =19.6m?

Curriculum
would be blocked.



Splat

To solve a Splat puzzle, you need to figure out what is covere
up by the splat. For example, this puzzle has a total value of 5
but you only see 2 circles, so what is underneath the splat?

Puzzle Answer

8 &

What is covered up by the splat? (hint: each splat is covering the
same amount)
8

L

8

Source:
https://stevewyborney.com/2017/03
/the -fraction-splatseries/

Solution

L

Curriculum
Connections


https://stevewyborney.com/2017/03/the-fraction-splat-series/

Scientific Notatiol OPEN MIDDLE

https://www.openmiddle.com/scientifienotation-2/

Using the digits & 9, at most one time each, fill in
the boxes to make a product that equals 800,000,000.

--------

(% 10)( x 107

Solution

. ST2NB é2dz t221 4G OGOKS a2zt dzi
How do the digits you choose for the exponents affect the product? Hov
do the digits you choose to multiply by 10 affects the product?

Here are some potential answers:
(4 x13) x (2 x 16
(8x10) x(1x19

Curriculum
Connections


https://www.openmiddle.com/scientific-notation-2/

What is the are of each shape?

The area of the full square is given in each diagram
below. Justify your answer.

Solutions
Possible Answers for

the first diagram4

—+—+—+—+-
2 2 4 8 8
4 4 2 3 3
= —4+—+—+—+—
8 8 8 8 8
Yo — _1s
:
=2
Sourcehttps://stevewyborney.com/category/tiled Curriculum
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https://stevewyborney.com/category/tiled-area-questions/
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Source: http://www.bovinemath.comuisit this site for more problems like
these ones!)

Problem:
In the following diagrams, the number on each bridge is the sum of
the numbers of cows in each of the adjoining fields. Pasture ong,
has been completed. Find all of the unknown values |
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A+B+(C=38 | A+B=36andw=1z |

What if you only have unknown values? How would you solve this problem?

Using single digit numbers, find one solution. Then, find

@ ] themalllo y dzyo SNE OF y Qi NBLISEH (0

You may even want to have your neighbors try to solve the
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http://www.bovinemath.com/
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Look at the picture of the parking lot above. What do you notice? What do you wonder? Justify yot
answers using evidence from the image.

What is the most common car colour in your area? Can you make a prediction based on the park
lot image?

Develop a plan to collect data in order to verify if the parking lot image reflects car colour in your
area.

Represent your data in a graph (for example, a bar graph or a pie chart). Remember to label all ax
and give your graph a title!

Answer the following questions:

1. Distinguish between a census and a sample from a population. How did you sample the
population of cars in your area?

2. ldentify bias in your data collection method.

3. What is the most common car colour where you live?

Sourcehttps://www.youcubed.org/wp

Curriculum
content/uploads/2019/10/Datatells-us-about-ourselves.pdf Connections



https://www.youcubed.org/wp-content/uploads/2019/10/Data-tells-us-about-ourselves.pdf

Integers Card Game

Remove the Jacks, Queens, and Kings from a standard deck of

playing cards..

Distribute the entire deck of cards to all players. In this game,
red cards are negative integers while black cards are positive.
Each person turns over 3 cards and finds the SUM (add all three
cards together). The person with the highest value keeps the
cards in a pile. Continue playing until one player has all the

cards.

Extension: Instead of finding tream you can find the
PRODUCT of the three cards. (multiply all three cards together).

Sample Hand
Player 1

.
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Find the SUM
(-6) +(5) +(9)
=8

Player 1 wins

Extension: Find the PRODUCT
(-6) x (5) x (9)

=-270

Player 2 wins

Player 2

(-10) + (3) +-@)
=9

(-10) x (3) x-@)
=60

h

Curriculum
Connections





















